
https://www.leads4pass.com/s90-02.html
2024 Latest leads4pass S90.02 PDF and VCE dumps Download

 

 

 

S90.02Q&As

SOA Technology Concepts

Pass SOA S90.02 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/s90-02.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SOA Official
Exam Center

 

 

S90.02 VCE Dumps | S90.02 Study Guide | S90.02 Exam Questions                                1 / 6

https://www.leads4pass.com/s90-02.html
https://www.leads4pass.com/s90-02.html
https://www.leads4pass.com/s90-02.html


https://www.leads4pass.com/s90-02.html
2024 Latest leads4pass S90.02 PDF and VCE dumps Download

QUESTION 1

Which of the following are industry standard technologies related to the processing of XML-based data? SELECT ALL
THAT APPLY 

A. XData 

B. XQuery 

C. XSLT 

D. XWeb 

Correct Answer: BC 

 

QUESTION 2

A SOAP-based Web service is required to transmit an XML-based invoice document to a REST service. However, the
SOAP-based Web service is designed to represent invoice data using an XML schema that is different from the XML
schema used within the REST service. How can the disparity between the XML schemas, used by these two services,
be overcome so that they can exchange the invoice document? Select the correct answer. 

A. A layer of data format transformation logic needs to be introduced based on mashup technologies, such as DTD and
WS-Transform. 

B. A layer of protocol transformation logic needs to be introduced based on Web technologies, such as HTTP and FTP. 

C. A layer of data model transformation logic needs to be introduced, based on XML technologies, such as XSLT. 

D. There is no technique or technology for overcoming differences between XML schemas. 

Correct Answer: C 

 

QUESTION 3

When designing REST services within a given domain, you establish __________________ that are represented by
unique identifiers, usually in the format of __________________. Select the correct answer. 

A. resources, HTTPs/HTTPSs 

B. mashups, HTTPs/HTTPSs 

C. resources, URLs/URIs 

D. mashups, URLs/URIs 

Correct Answer: C 

 

QUESTION 4
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WS-BPEL is a technology that can be used to express service composition logic for SOAP-based Web services. Select
the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

Which of the following statements is false? Select the correct answer. 

A. The WS-I is an industry standards organization that provides basic profiles to help foster interoperability among
solutions based on XML and Web services industry standards. 

B. OASIS is an industry standards organization that has developed a number of important technology specifications,
including WS-BPEL and UDDI. 

C. The W3C is a standards organization that has developed a number of important technology specifications, including
SOAP, WSDL, and WS-Addressing. 

D. The OAS-C is an industry standards organization that has developed a number of important technology
specifications, including WS-Security and XML Schema. 

Correct Answer: D 

 

QUESTION 6

MEP stands for: Select the correct answer. 

A. Message Extension Pair 

B. Message Exchange Pattern 

C. Mixed Entry Platform 

D. Mixed Elevation Program 

Correct Answer: B 

 

QUESTION 7

WS-BPEL process definitions can be encapsulated by and exposed as SOAP-based Web services. Select the correct
answer. 

A. True 

B. False 

Correct Answer: A 
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QUESTION 8

Identify what is wrong with the following statement: "I have a single Calculator component that provides basic math
functions. I\\'m exposing this component as a component-based service for internal service consumers that are also
component-based. I\\'m exposing this component as a SOAP-based Web service for internal and external service
consumers that support SOAP messaging. I\\'m also exposing this component as a REST service for external service
consumers that prefer to access its functions via HTTP methods. I\\'m also exposing this component as a service agent
for service consumers that support explicit invocation via a service contract." SELECT ALL THAT APPLY 

A. A single component cannot be exposed as a component-based service, a SOAP-based Web service and a REST
service at the same time. 

B. SOAP-based Web service consumer programs cannot be both internally and externally located. 

C. The uniform contract required by REST services does not support the use of HTTP methods. 

D. Service agents are event-driven and are therefore not explicitly invoked via a service contract. 

Correct Answer: D 

 

QUESTION 9

A WS-Policy definition can be attached to different parts of a __________________ or to multiple
__________________. Select the correct answer. 

A. service activity, service activities 

B. service contract, service contracts 

C. service model, service models 

D. service line, service lines 

Correct Answer: B 

 

QUESTION 10

The amount of services participating in a service activity, the duration of the service activity, the amount of service
activity instances that concurrently exist, and rules associated with the service activity are all examples of: Select the
correct answer. 

A. design-time data that is defined via the WSDL data definition language 

B. runtime data that is expressed as part of a WSDL service operation definition 

C. state or context data that can be managed using WS-Coordination 

D. repository resource data that can be managed using WS-Policy via persistence in a database for longterm storage 

Correct Answer: C 
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QUESTION 11

Which of the following technologies are fundamental to REST service design? SELECT ALL THAT APPLY 

A. HTTP 

B. WSDL 

C. MEP 

D. RPC 

Correct Answer: A 

 

QUESTION 12

Like components, SOAP-based Web services can be developed using vendor tools. Unlike components, the
communications framework established by SOAP-based Web services can be based on industry standards thereby
remaining vendor-neutral. Select the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 13

A SOAP-based Web service is essentially: Select the correct answer. 

A. solution logic that can only be accessed via HTTP methods 

B. solution logic accessible via binary RPC protocols 

C. solution logic that has been shaped by service-orientation design principles 

D. solution logic that can be accessed via a published WSDL definition 

Correct Answer: D 

 

QUESTION 14

Which of the following service designs are considered not supportive of service-orientation due to improper selection of
technologies? SELECT ALL THAT APPLY 

A. A REST service designed to respond to service consumers via standard HTTP response codes. 

B. A SOAP-based Web service designed with a service contract that includes WS-Policy definitions that disallow
communication using SOAP messages. 
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C. A reusable component-based service designed to reject messages containing XML so as to limit communication to
RPC-centric MEPs. 

D. A SOAP-based Web service designed with a decoupled service contract that includes a standardized XML schema. 

Correct Answer: BC 

 

QUESTION 15

A namespace can be considered a form of: Select the correct answer. 

A. unique identifier 

B. redundant identifier 

C. duplicate identifier 

D. Namespaces are not identifiers; they are always pre-defined values that we are required to work with. 

Correct Answer: A 
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